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Math 8 HW Section 3.3 Evaluating the Percent of a Number

1. Determine the percent of each number. Give your answer to the nearest hundredth:
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2. Terry was asked to find the percent of each number. The work below shows what he did. Indicate any
mistakes that you see. If there are no mistakes, indicate that all the steps are correct:

a) 11% of 90

sl =11%x90 <2
s2 )0
53 =990

b) 120% of 32

sl =120%x32

s2 =1.20x32

53 64) <3¢
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c) 130% of 45
sl =130% x45

52 =(100% +30%) X45)
53 =(100%x45)+45)
s4 =45+9 =54
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d) 10.5% of 40

sl
2 €03
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52 =2.5x80
s3 =200

e) 250% of 180
=10. 5%;40/_9\03/ sl =2350%x80)

) 10%% of 90

sl =(10%+0£A>)x90

52 =(10% x90)+(033%x90)
s3 =9+0.297

s4 =9.297
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3. [ Jasonltook his girlfriend to dinner at a nice restaurant. The bill was 584.20 and he needs to give a QE tip.
How much tip should he give? ® QYO X 0 AS = ~ ()L A —"*‘ ¥4 = gy
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4. What is the difference betwean Explain your answer.
— e —
5. The cost of an Ipad-mini is 5330 at the Apple store. If Alan got a 33J-%}discount how much does he need to
pay before tax? @ .%%,L / o gm
o
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6. The surface area of a building ls. and 10.5% of th&rea is to be palnted red. What is
that is to be painted red in m~ ? A %2§‘ W\ = \\)0 R S—:)J = \QZSM
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7. Tom weighs 150 Ibs. He sperl% two months working out an galne ore weight. How much does he
weighnow? " ) oo solh =EEE T GThL S+«
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8. If 20% of an unknown number is 10, then what is that number?
26% —> \O
£s g ) xS
3
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9. 15% of the people in an election voted for Brad. When the ballots were counted, 1526 people voted for him.
How many people voted altogether? IS —> 526
us»«l\) = {s26 Sy —> SO¥.T

N= V32 \SZL _ g s
— L 100% —> 1033

10. Challenge: Sam'’s age is 20% of David's David’s age. Terr\'r s 4ge is 150% of Sam’s age. If the sum of all their ages is

90years, then 63 2.
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